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1)

1.

wigem @ar s fmior T Sfame faem

BRI AT ST o STER 3T 39 A0

& AN AT HIT 3T 872

(A) I Tid, <30 fama =1 fawa & 99
i ITh! SHEEA & I H G TE|

(B)mmaﬁ@aaﬁwug@w
qqaaH, o, $9E don 9m o
STEE % U | e f@ @

(C) Tida faumawen ¥ e WREE &
&t A et wfafafea @ g & fon
FEAIeh Sfdffe IR Thel Hehaol 74
ygfa &1 3= fwam

(D) M famal & wfafafeai & gAme <61 ale
3T WY 9 7 fean mEm

(E) S1gaRd wd

wigam war ® 3Fdfua O & 9ed 9-

(A) 25 (B) 26

(C) 34 (D) 18

(E) eTgaRd wd

feret off 37URTer o STRIUY <Rl W Rl oA

T e e § ey geRed o fow wferem

= 1Rl it SHEeIT AT §-

1. fodt ft =afeq &1 T Ty & fow &
IR 9 3ifees Ten e e

2. A @] 3H ¥ @ fRu T FE W 3K
HA AR &l B

3. fodr ft safed =t = ot fawg wed
3 & fau e s "wam

T /S W =TT FiaT-

(A) a1 92 (B) Had 1 93

(C) 1,293 (D) ®ad 2 9 3

(B) STgaRd oo

82°30' J&t QPN WA i AR AT 1@r

U S & T8 URA o shid TSR Q@i o

TSR 77

(A) \H“h‘III"IMI"I ’>||('|°h|

(B) =, qeM, ik

(C) =M, A9, et

(D) =H, AR, et

() STIARa I

feurem & 9 uda frew s ara o fem

2 o W W B

(A) HITM, HehTe], M, SF=YUI

(B) WIS WS, shaAepl, M, el

(C) e[, T, e, aedt

(D) M, TN, FeRat, S

() STIaRa I

PHEXSIE

1-

The Constituent Assembly formed almost
according to the plan proposed by the Cabinet
Mission. Which statement is false according to
this plan?

(A) Each provincial, princely state or group of
princely states was given seats in proportion
to their population.

The seats of each province were divided in
proportion to the population among four ma-
jor communities — Muslims, Sikhs, Christians
and General.

Members of each community in the In the
provincial Legislative assemblies, elected
their own representatives by the method of
proportional representation with single trans-
ferable vote system.

The method of selection in the case of
representatives of the princely state was to
be determined by consultation.

(E) Question not attempted

The members of the Scheduled Caste in the
Constituent Assembly were-
(A) 25

()34

(E) Question not attempted

(B)

©

(D)

(B) 26
(D) 18

The Constitution provides following rights for

the accused of any crime to protect himself and

for a fair trial in the court:

1. No person shall be punished for the same
offence more than one.

2. Law will not apply to offence done before the
law comes into force.

3. Any person can be asked to give evidence
against himself.

Select the correct code-

(A) Only 1 and 2

(B) Only 1 and 3

(C)1,2and 3

(D) Only 2 and 3

(E) Question not attempted

82°30'" East longitude is considered the standard
meridian of India. It passes through which
neighbour countries of India?

(A) Afghanistan, Sri Lanka, Pakistan

(B) China, Bhutan, Sri Lanka

(C) China, Nepal, Sri Lanka

(D) China, Afghanistan, Sri Lanka

(E) Question not attempted

The correct pair of high mountain peaks of the

Himalayas which is located in India is-

(A) Kanchenjuga, Makalu, Nanga, Annapurna

(B) Mount Everest, Kanchenjuga, Nanga,
Nandadevi

(C) Kanchenjuga, Nanga, Kamet, Nandadevi

(D) Nanga, Annapurna, Nandadevi, Kamet

(E) Question not attempted
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6.

10.

11.

12,

13,

vrg 3R e o wen feea ufyem ety vegt-
(A) FHRHUSHA (B) hishUl

(C) Hg (D) ST TWHR

(E) STIafa o

IS & Y Tured W&t T 8?2

(A) T T faomidt fagmor 2

(B) hIcIES o Uil b i@l W -T&l @ T Gehall
(C) TTeh! TMd BIEd W H07 qe W o 2l
(D) T A fafyr g1 gerek fopan < 21
(B) STgaRd ¥

1 feu T ol § § U URHIOIeRAT o
SeTetur T ®-

(A) wifeaq (B) 3T
(C) FTHX (D) IR
(E) STIaRa 7T

T et & T B-

(A) (NH,),So,
(C) (NH,),So,

(B) (NH,),So,
(D) (NH,),So,

(E) SIgaRd T

HE FHT T G ford T | 37

(A) Bt (B) wefHe

(C) 2f= (D) IR

(E) $13aRa ged

HIe T GIeT ufiag & few 2023-24 &
iRl & FTT = U SR wew 3T -

(A) 9, SETIUS, =, Hisen], el

(B) ST, SIS, &, =, G ™
STHRE

(C) 9Rd, SERIUS, Heel, THEr, STaM

(D) SHEIER, SIM, A2, AT, faesieve

(B) TFaRad w

T UTEUIR 3 2023 & Heiel W WET §-
1. Toed fadsHie we ey T
TH B el TS URAE | RO S i R

2. AN HI iF 85 =
3. Gog wifgdemelt g famg 5 ?)

T ©RE G qfeRed  # g
ﬂﬁw% -
(A) 1,293 B) 1,2,3d4
€ 132 (D) 39 4
(E) $T3aRa g%
LT USRI TR ol TS fohT o got?
(A) 1993 (B) 1994
(C) 1998 (D) 2000
() STgaRd oo

11-

West coastal strip situated between Mumbai
and Goa-

(A) Coromandel (B) Konkan

(C) Kannada (D) Northern Circars

(E) Question not attempted

Which properties of colloid are not correct?

(A) Itis a heterogeneous mixture.

(B) Colloid particles cannot be seen with eyes.

(C) When they are left to undisturbed, the parti-
cles settle down to bottom.

(D) They are separated by filtration method.

(E) Question not attempted

Which one of the following element is not an

example of a mono atomic-

(A) Sodium (B) Iron

(C) Sulfur (D) Copper

(E) Question not attempted

The formula of ammonium sulphate is-

(A) (NH,),So, (B) (NH,),So,

(C) (NH,),So, (D) (NH,),So,

(E) Question not attempted

Koneru Hampi is related to which sport?

(A) Hockey (B) Badminton

(C) Tennis (D) Chess

(E) Question not attempted

The temporary member countries elected to the

United Nations Security Council for the term

of 2023-24 are-

(A) India, Ireland, Kenya, Mexico, Norway

(B) Albania, Brazil, Gabon, Ghana, United Arab
Emirates

(C) India, Ireland, Malta, Ecuador, Japan

(D) Ecuador, Japan, Malta, Mozambique, Swit-
zerland

(E) Question not attempted

12- Correct statements regarding Henley Passport

13-

Index 2023-

1. Global citizenship and residence advisory firm
Henley & Partners has released the report.

2. India’s rank is 85.

3. The most powerful passport is that of Singapore.

4. The worst passport is of Pakistan.

The correct code is —

(A)1,2and 3 (B)1,2,3and 4

(C)land 2 (D)3 and 4

(E) Question not attempted

In which year was the National Human Rights

Commission formed?

(A) 1993 (B) 1994

(C) 1998 (D) 2000

(E) Question not attempted
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14, SEASET frafem 3T & dag W W&t 14- What is not correct regarding Multi-member

15.

16.

17.

18.

19.

= 2-

(A) g&a fateqa ogea frafed s &t
yeAerdl Yl 2l

(B) T&A fHaf= g &l 1= A fat=m

A 1 g AR iR 9 €l
(C) gea frafem emge iR e Fraftem

STIEI 1 HIADIA 6 Y ALET 65 T
St 9ee T B q|

Election Commission-

(A) The Chief Election Commissioner presides
over the Election Commission.

The Chief Election Commissioner has more
powers than the other two Election Commis-
sioners.

The tenure of the Chief Election Commis-
sioner and other Election Commissioners is 6
years term or continue till the age of 65 years
whichever is earlier.

(D) All the above statements.

(E) Question not attempted

(B)

©

et | Ferier T 9= T TR fora 15- In which year was the right to property removed

(D) 3uga |t HoA|

(E) STIARa 7A

Hufe o 3TReRR il Hifeter TR@RRT i
g s rEn?

(A) 1976 (B) 1978

(C) 1980 (D) 1972

(E) $TgaRd T

R dfgas § ifa fever a=t @t
A & & 29T B

1. A 1 e, TS, oTfefs wo
oIt =™

2. SieF R hl HW I3ME

3. SfaqRsera wnfd il s@rer <A

HE HE T T hiTT-

(A) 1,293 (B) ®ad 1 92

(C) ®aa1 2 9 3 (D) Fad 1 93

(B) Tqafd o

T 9 fae arett Afea (ufvem | ud @t

3R ) w WE W -

(A) TR, Tigsh, GH, ==l

(B) YIREI, 9M, Tieh, =™

(C) TR, STER, Teeh, gt

(D) YIRE, TIeeh, HTe/, it

(B) TIaRad W

T hieseiT aut o -

(A) TAMI, HETH, ASge, WS

(B) 919, 9ra1, MM, =gA

(C) STehTTEan, JwRfaan, e, uM

(D) ®FH, T, &, TA

() STIARa I
WRA okl SFIOET 2011 ok q T
TSRt e 250 W A § BT WE I 2

(A) TSEIH, FRE0E, fesn, feqre wu
(B) TSR, HEYRYI, SREUS, TSI

(C) TSI, HEAYRYT, SIS, feurael yawr
(D) TSR, B, swEve, feame wew

(E) STIAfd 79

16-

17-

18-

19-

from the list of fundamental rights and made a
general legal right?

(A) 1976 (B) 1978

(C) 1980 (D) 1972

(E) Question not attempted

The objectives of including Directive Principles

of State Policy in the Indian Constitution are-

1.  Welfare of the people social, economic and
political justice

2. Raising the standard of living

3. Promoting international peace

Select the correct code-

(A) 1,2and 3 (B) Only 1 and 2

(C) Only 2 and 3 (D) Only 1 and 3

(E) Question not attempted

The correct option of rivers joining Ganga
(from west to east) is-

(A) Sharda, Gandak, Son, Ghaghra

(B) Sharda, Son, Gandak, Ghaghra

(C) Sharda, Ghaghra, Gandak, Kosi

(D) Sharda, Gandak, Ghaghra, Kosi

(E) Question not attempted

Tropical rain forests are -

(A) Ebony, mahogany, rosewood, rubber
(B) Bamboo, Sal, Sheesham, Chandan
(C) Acacia, Euphorbia, Cactae, Palm
(D) Safflower, Arjuna, Mulberry, Sal

(E) Question not attempted

According to the Census of India 2011, the
correct option of states whose population
density is less than 250 is-

(A) Rajasthan, Jharkhand, Odisha, Himachal Pradesh
(B) Rajasthan, Madhya Pradesh, Jharkhand, Odisha
(C) Rajasthan, Madhya Pradesh, Uttarakhand,
Himachal Pradesh

Gujarat, Haryana, Uttarakhand, Himachal Pradesh
Question not attempted

(D)
(E)

Samyak IAS, Near Riddhi-Siddhi, Gopalpura Bypass, Jaipur - Mob : 9875170111, 9414988860




Samyak

An Institute For Civil Services

“4)

20.

21,

22,

23,

24,

25,

26,

qRd i 1951 ¥ 2011 qeh §F SEWOMT §
Haifeh TIERT Jlg eF T@l?

(A) 1961-71 (B) 1951-61
(C) 1971-81 (D) 1981-91
(E) STTafa =

“weifier e’ e B-

(A) TS (B) +iew @R
(C) S, e (D) S.<sfaw
(E) STIARd 7T

AR (B) &t HAISTRAT £-

A) 1 B) 2

<€ 3 (D) 4

(E) TFaRa e

gifeaw, ggeifaw a <rfean faas
ToEeTTeR &2

(A) Eiferad (B) e

(C) BEgH (D) FARHA

(B) STIIRT e

IRl h Tehd wht hIfvreRTsil U o e
AT i FRIfSHIeRToT i § Hewaqul JftenT
T -

(A) Tiestt SHHI

(B) TE aset fcteh]

(C) Tast sfadaft sifereht

(D) <EHEH

(E) eTgaRd wd

AR A it U o g WA ¢ AN?

(A) 9T T ST 9 @l &1 Sid & AR
o ifys 8F % SR

(B)gﬁ%ﬁﬁawwwﬁwﬁw
|

(C) 9T 1 ST 9 &l &1 Shid & ¥R
T FH TH W

(D) 9T 1 ST 9 @l &1 Sid & ¥R
% TR BH W

(B) TFaRa w

gﬁv@wﬁ?mﬁa}ﬁaﬂﬁug'tw

1. 30 7EeR, 2015 @ 9T (WiF) | FAaU

TR TigeUE HT JESTA |

2. THH eI TEUM § S T
3. THHI 11987 TS Hiel Sl 9= T 2

4. odEE W 3HS WEIRYER IS WL B
E He ® -

(A) 1,293 B) 2,394

© 1,2,394 (D) 1,2 9 4

(E) $13aRa g%

21-

22-

25-

26-

Indial s census from 1951 to 2011 had the highest
decadal growth rate in-

(A) 1961-71 (B) 1951-61

(C) 1971-81 (D) 1981-91

(E) Question not attempted

The book [ Atomic Theory!l | is written by -

(A) Rutherford (B) Niels Bohr

(C) 1.J. Tomson (D) J. Chadwick

(E) Question not attempted

The valency of boron (B) is-
A1 (B)2
<3 (D)4
(E) Question not attempted

protium, deuterium and tritium are isotopes
of ?

(A) Helium (B) Carbon

(C) Hydrogen (D) Chlorine

(E) Question not attempted

What is play an important role in detoxifies
poisons and drugs in Liver cells of vertebrates.
(A) Golgi apparatus

(B) Rough endoplasmic reticulum

(C) smooth endoplasmic reticulum

(D) Lysosome

(E) Question not attempted

Why does an iron nail sink in water?
(A) Due to the buoyancy force of water being
greater than weight of iron nail.

(B) The density of iron nail is less than the density
of water.

(C) Due to the buoyancy force of water is less
than the weight of the iron nail.

(D) Due to the buoyancy force of water is equal
to the weight of the iron nail.

(E) Question not attempted

The correct statements regarding International
Solar Alliance is-

1. International Solar Alliance launched in the in
Paris (France) on 30 November, 2015.

2. Its headquarters has been made in Gurugram.
3. Malta has been made its 119th member.

4. Presently its Director General is Ajay Mathur.
The correct code is [ |

(A)1,2and3 (B)2,3and 4
(©)1,2,3and 4 (D) 1,2 and 4

(E) Question not attempted
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27. BT &1 ® WRA ot 5 3{@@@[ @l T 27- Recently five new wetlands of India have been

28,

29.

30.

T Gell § et T 1 A E -
1. Sihuqs vall deu fSe
2. TR &Y Hegu e

3. @rge e e

4, HUA Tall AR

5. I uaft sT9arey

e HE ¥ -

(A) 1,2,3,495

(C) 1,3,495

(E) STTaRa WA

Hw g w o feret e & wei § wEt

wHIT -

1. 39 ASM H PEAA 13 FEL, 2024
EAIE]

2. 3H AN 1 A&F YfaEE 300 g O
% fasTefl 93 % 1 &S =R i T9H
HET

3. 39 AN W HA SAEING = 75021
FUE ®UY 2|

4. 9 ASHREE 3KW T 60 Ffaerd |fewet
T B gEHH 2l

B) 2,3,495
(D) 1,2,394

T HE T -

(A) 1,293 B) 1,2,394
() 1,294 D) 1,394

(E) e1gafd wd

= 7 ‘facer gepm’ W @ & e Hifa
e & foreen deiw 3-

(A) Sl Sl ¥ (B) @ SE 9
(C) 95 oM@l ¥ (D) Wk 9
(E) $1gafd o7
gmﬁwﬁw%ﬁdaﬁ@waﬁ
1. I8 ARM 15 TEeR, 2023 Fi Gl (FAREUS)

& Hl T

2. T ASMI I FUFEA SN SATRardt
IE TR AW Y S S S 2

3. I8 9 <91 H foRiy ®9 ¥ SR 75
SIS SR (PVTGs) o 9y fasd &
fere 3=

4. 39 ASHRTG TERAT dged TSEIH &
N St w1 = TR e R

TE HE B -

(A) 1,293 (B) 2,394
(C) 1,2,3 94 (D) i & T&F
() STIaRa I

28-

29-

30-

added to the Ramsar site list. These are -
1. Ankasamudra Bird Conservation Reserve
2. Magadi Kere Conservation Reserve

3. Longwood Shola Reserve

4. Karaivetti Bird Sanctuary

5. Ranganathittu Bird Sanctuary

The correct code is -

(A)1,2,3,4and 5 (B)2,3,4and 5
(C)1,3,4and 5 (D) 1,2,3 and 4
(E) Question not attempted

The correct statements regarding PM Surya

Ghar Muft Bijli Yojna is/are-

1. This scheme was started on 13 February, 2024.

2. The aim of this scheme is to illuminate 1 crore
houses by providing up to 300 units of free
electricity per month.

3. The total expenditure on this scheme is
estimated at Rs 75021 crore.

4- Under this scheme, there is a provision to give
60 percent subsidy up to 3 KW.

The correct code is |

(A)1,2and3 (B)1,2,3and 4

(C)1,2and 4 (D)1,3 and 4

(E) Question not attempted

China has made a policy for spending on []Silver
Economy’ which is related to-

(A) aquatic organisms

(B) mining industry

(C) aging population

(D) manufacturing

(E) Question not attempted

The correct statement regarding Pradhan

Mantri Janman Yojana is not-

1. This scheme was started on 15 November, 2023
from Khunti (Jharkhand).

2. This scheme is also known as Pradhan Mantri
Adivasi Nyay Mahabhiyan.

3. This scheme was launched for the overall
development of 75 particularly vulnerable tribal
groups (PVTGs) in the country.

4- Under this scheme, Sahariya dominated, Baran
district of Rajasthan has been selected.

The correct code is [

(A)1,2and 3 (B)2,3 and 4

(©)1,2,3and 4 (D) None

(E) Question not attempted
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(6)

31.

32.

33.

34,

qufea shitag-
e A hel ST
EaG A
(A) 9t 1. fiRwR =afea =t
JeaefenIol =T & GTHA
TEId HET
(B) TR 2. V& g oS
YRR ST9H R
AR HauTes i
1 e FTEl @B
(©) saww fie 3. S« 7ot ermea @
WHW At fom
ARHR & His Hrd
F @I B
(D) AfYFER 4. o I Bl
Fizl 1 HE AR T T8
R w3 W W
3HHT HIE FHMAA Th
&l
HE HE M ST hITT-
A B C D
(A) 1 2 3 4
B) 1 32 4
@ 2 3 1 4
M 2 3 4 1
(B) oTIaRd ged

AT ¥ 1984 & A U 37 Ak Fellfereh
ARAAT Wi St It Her off-

(A) 410 (B) 425
(C) 420 (D) 415

(B) STFIRT oed

e Taerres e o et W€ feRan o
T SeorE diaa™ & ford orede ¥ 27
(A) 3T, 108 (B) 3T, 109

(C) 31, 110 (D) T4 111

(B) STgaRd 9o

wiaem & 919 Holrer rfufream & Haer -

(A) HEAREE & T3 &1 HEA Akad A
T & fagHaT & Fa 9 = F 15
gfaed ¥ eifees 7 2

(B) TR O FafHd Waem™

(C) srgfaa wifd iR SAefa & Tl &
STRETT | Hafea

(D) Tl Sfeaa @ Geiferd graem

() STgaRd oo

31-

32-

33-

34-

Match-
Writ When does the court
issue ?

habeas 1.
corpus

(A) Presenting the
arrested person

before the court.

When a public
official is not
following his legal
and constitutional
responsibilities.

Mandamus 2.

(B)

When the lower court
or government officer
is doing any work
without authority.

When the court feels
that a person has
been appointed to
such a post on which

Certiorari 3.
writ

©)

Quo 4.
warranto

(D)

he has no legal right.
Select the correct code-
A B C D
A) 1 2 3 4
B) 1 3 2 4
<© 2 3 1 4

D) 2 3 4 1
(E)  Question not attempted

Congress won the maximum number of Lok
Sabha seats so far in the 1984 elections. Their
number was-

(A) 410 (B) 425
(C)420 (D) 415
(E) Question not attempted

In which article of the Constitution is it men-
tioned that the Money Bill will not be intro-
duced in the Council of states?

(A) Article 108 (B) Article 109

(C) Article 110 (D) Article 111

(E) Question not attempted

The 91 Amendment Act of the Constitution is

related to-

(A) The number of members of the Council of
Ministers should not exceed 15 percent of
the total members of the Lok Sabha or the
Legislative Assembly of the States.

(B) Provisions related to defection

(C) Related to reservation of seats for Scheduled
Castes and Tribes

(D) Provisions related to Anglo Indians

(E) Question not attempted
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35.

36.

37.

38.

39.

40.

41,

42,

WRE TR T UREaR HEes iy el
¥ URY feram T@m?

(A) 1951 (B) 1952

(C) 1956 (D) 1955

(B) STgaRd ¥

a9 2002 H URH AT 3= AT § orerd
| -

A) TU=e =i

B) fagAl o weg fae=

(C) aftss ArIieh

(D) HasH

(B) STFaRd w3

foe o smfter & Wg SufEen i 3T

FE H WY 7 " il SH GHT Wi
Ik AT-

(A) TE-XIV (B) TE-XV
(C) FE-XVI (D) TFE-XVII
(E) STIRa wA

‘@it T U’ (ST ot ) ATHeR 3T EEr
TerdenT o1-

(A) SrEtEn

(B) S-UIe1 T

(C) foan

(D) e T @mEa

(E) STIaRa wd
_2%5°Cur%rl=—rzﬁwﬁr—rﬁﬁwm

(A) =i (B) fa
(C) el (D) UgfafEm
(E) STIaRa wd

Ul ¥ geg UiNeh a9 9UE -

(A) TR, BIERRE, JHiEE, H
(B) TEeeH, ®IewRd, S, Him

(C) hicerE™, HHIREE, Tewt, TeRrEm
(D) A, fS&, SR, 9RE

(B) Tqaid o

T feu @ gy Sarel ® W @t widvrdar
waituer forad 87

(A) H| (B) Ul

(C) 3Aver (D) 3%

(B) Tqafd o

ST We STed & T el weret
& YA BT 272

(A) TfTg sRda (B) Tfqm 9w gfea
(C) Tftr Felrd (D) T Aefrwy

(E) 31aRd wed

38-

When was the family planning programme
started by the Government of India?

(A) 1951 (B) 1952
(C) 1956 (D) 1955
(E) Question not attempted

The target group in Antyodaya Anna Yojana
started from the year 2002 is-

(A) Backward Blocks

(B) The poorest of the poor

(C) Indigent senior citizen

(D) Universal

(E) Question not attempted

France helped liberate thirteen colonies of
America from Britain. At that time the ruler
of France was-

(A) Louis XIV (B) Louis XV

(C) Louis XVI (D) Louis XVII

(E) Question not attempted

Whose newspaper named [/L.JAmi du peuple!]
(Friend of the People) was-

(A) Abosia

(B) Jean Paul Marat

(C) Mirabo

(D) Rosette de Lyle

(E) Question not attempted

The speed of sound at 25°C is highest among
the following-

(A) Steel (B) Nickel

(C) Iron (D) Aluminum

(E) Question not attempted

Macronutrient group in plants is-

(A) Potassium, Phosphorus, Magnesium,
Manganese

(B) Nitrogen, Phosphorus, Zinc, Copper

(C) Calcium, Magnesium, Sulphur, Potassium

(D) Iron, Zinc, Copper, Boron

(E) Question not attempted

Which of the following animal products has the

highest percentage of protein?

(A) Meat (B) Fish

(C) Egg (D) Milk

(E) Question not attempted

Which bee is used for commercial honey

production?

(A) Apis dorsata (B) Apis cerana indica

(C) Apis florea (D) Apis mellifera

(E) Question not attempted
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43,

44,

45,

46.

47.

48.

49,

fagm “mEEE 2025 & 1‘?@ =X 43- Four astronauts have been announced for the

AT

3fafter =l ot Swom i T A &

(A) URId AR, A= G, Y99 e, Siferd
HIH

(B) URIId -TRR, YuH [T, SAfohd R, TSI
A

(C) URId ARR, 3T YdTd, 3TSiid HEMH, Y
XAl

(D) YRIId A, ST T, SHAfehd UM, A

MESll

(E) STIaRa wd

UGH YRR 2024 Wi HIGUT @t TS §1 S

Ui foRe e femar T 22

(A) Hifeen fatsial (B) aSEden el

(C) fasTeR dIes (D) USH YoeToaH

(E) $T3aNa ged

TS wTer & orEe: Holtel ohi ek ToRE SU=ITE

& T wfee sTeRteHt qrEaRr 2023 fear m?

(A) 3t TEa (B) deTehdt Wa

€) (D) SeR HW gt

(E) $1gaid 97

fou U fameat & & foe § snfirer =& o

 WE T -

(A) Tog, st=iften, ST, Aeel oRE, §gH
A 3R

B) T, 30, §H, TS 3R, TR o1 3TN

(C) ek, T, THold, TH, TS 3

(D) T, M, Had, T0, G 3RS ST

TAUeAt U & STER WRA fehd S0 & I
Hiehe T UBTgRT dfvadh W UX <rer e
ST I IR & T 872

(A) SIUHE (B) =

(C) BIThIT (D) HATSI

(E) STIaRd 99

QTHAT Sl TR ol hgld & ol GaT  4g.

T €12

(A) &R, 3T

(B) . T6I= TEIg

(C) TRER Jead 418 U
(D) AR 18&®

(E) e1gaRd wd

ORd U HHS hi LTt AfAfaal o Women  49-
e ¥ faefaa g3?

(A) 1980 W (B) 19669

(C) 19784 (D) 19839

() STgaRd o

manned mission [ /Gaganyaan!(] 2025. These are-

(A) Prashant Nair, Angad Pratap, Shubham Shukla,
Ankit Krishnan

(B) Prashant Nair, Shubham Shukla, Ankit
Krishnan, Ajit Pratap

(C) Prashant Nair, Angad Pratap, Ajit Krishnan,
Shubhanshu Shukla

(D) Prashant Nair, Angad Pratap, Ankit Krishnan,
Shubhanshu Shukla

(E) Question not attempted

44- Padma Award 2024 has been announced. Who

among these has been honored posthumously?
(A) Konidela chiranjeevi (B) Vaijayantimala Bali
(C) Vindeshwar Pathak (D)Padma Subramaniam
(E) Question not attempted

45- Hindi language writer Sanjeev was given the

Sahitya Akademi Award 2023 for which of his
novels?

(A) Mujhe Pahchano
(C) Ringan

(E) Question not attempted

(B) Paalkati Preet
(D) Jaler upar pani

46- From the given options, the correct option of

new countries included in BRICS is-

(A) Egypt, Ethiopia, Iran, Saudi Arabia, United
Arab Emirates

(B) Egypt, Iraq, Iran, Saudi Arabia, United Arab
Emirates

(C) Iraq, Iran, Kuwait, Yemen, Saudi Arabia

(D) Iraq, Iran, Kuwait, Yemen, United Arab Emirates

(E) Question not attempted

47- According to the Bloomberg report, India has

become the fourth largest stock market globally
by surpassing the stock market of which

country?
(A) Japan (B) China
(C) Hong Kong (D) Canada

(E) Question not attempted

Who described the Prime Minister as linchpin
of the government?

(A) B.R. Ambedkar

(B) Dr. Rajendra Prasad

(C) Sardar Vallabhbhai Patel

(D) Jawaharlal Nehru

(E) Question not attempted

When did the system of standing committees of
Parliament develop in India?

(A) Since 1980 (B) Since 1966

(C) Since 1978 (D) Since 1983

(E) Question not attempted
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50. WeHET ok Heiel ¥ fou w el ° WEl hegw 50- Among the given statements regarding the

51.

52,

53.

54,

55.

-

1. WHFES % TR | T Fated gl 2

2. gam’sﬁaﬁaqmﬁﬁqﬁqgamwﬁ
|

3. THMHA THh TWE AEAREE 991 THd 31K
gb;%aﬁ'{ﬂ‘ﬂq@aﬁ@@aﬂmm
|

4. YUFHEA WHR & G Aewqel o |
e g 2

TE HE H AT HHA-

(A) 1,293 (B) ®ad 1,3 9 4

(C) ®da12,3 94 (D) 1,2,394

(E) 3TaRd we

A O & 3T T | ¥ Shid
Hae & B-

1. fourh ®smes 2. foxig w

3. gidfr 4. 98H 1 HA

5. Haurtqe @ 6. =AU &

HE S M T hITT-

(A) 1,2,3,495

B) 1,2,3,596

© 1,2,3,496

D) 1,2,3,4,596

(E) STIaRa 7T

ITRIAH AT ahl U GRT YA T i
ST TTECieR i el ITfer BT, ST 0T
dfgeam & fora arese o &2

(A) 3T 114 (B) 1. 138

(C) 3T, 141 (D) 3T, 137

(E) STIaRa 7T

Hates e feedt A @ i) daenfie
T oY SV @1 B § Teh Gehdl 2| SHAT
yraa Giga & fea srw=se ¥ 27

(A) 3T 32 (B) 3T 137

(C) ¥ 13 (D) 3T, 142

(B) Tqafa oo

‘W T H TIH TETIYUl AAINE qr 2
g HIT TRE wET?

(A) feeer (B) HHIfer!

(C) TrEh! (D) @i

(B) eTgana wed

I i UgT W Ueh I[ceh G SoTalIg
(Zollverein) Thel TATUA ToRam Tam?

(A) 1832 (B) 1834

(C) 1836 (D) 1838

(B) Tqaia T

51-

53-

54-

55-

Prime Minister, the correct statement is/are-

1.  The Prime Minister enjoys a pre eminent
place in the government.

2. On the death of the Prime Minister, the
Council of Ministers remains the same.

3. The Prime Minister acts as a link between the
Council of Ministers on the one hand and the
President and Parliament on the other.

4-  The Prime Minister is involved in all import-
ant decisions of the government.

Select the correct code-

(A) 1,2 and 3 (B)Only 1, 3 and 4

(C)Only 2, 3 and 4 (D)1,2,3and 4

(E) Question not attempted

Apart from making laws, which of the following
are the functions of the Parliament?

1. Legislative work

2. Financial work

3. Representation

4- Forum of debate

5- Constitutional functions

6- Judicial functions

Select the correct code-

(A)1,2,3,4and 5 B)1,2,3,5and 6
(©)1,2,3,4and 6 D)1,2,3,4,5and 6
(E) Question not attempted

In which article of the Constitution is it described
that the Supreme Court will have the power to
review the any judgement pronounced by it?
(A) Article 114 (B) Article 138

(C) Article 141 (D) Article 137

(E) Question not attempted

The Supreme Court can declare a law uncon-
stitutional and stop it from being implemented.
In which article of the Constitution is this pro-
vision made?

(A) Article 32 (B) Article 137

(C) Article 13 (D) Article 142

(E) Question not attempted

"In my state the mother is the most important
citizen" who said this statement ?

(A) Hitler (B) Mussolini

(C) Trotsky (D) Lenin

(E) Question not attempted

When was the Zollverein formed at the initiative
of Prussia?

(A) 1832 (B) 1834

(C) 1836 (D) 1838

(E) Question not attempted
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56.

57.

58.

59.

60.

61.

62,

63.

‘T WA Siwhdar € @ SRt gUT R
TS -Tent BT €T ]1' T8 R B

(A) & Twfed (B) Fdiferad
(C) T (D) HRTE
(E) STIARa e

TR v ua sa aiae (fraent)
hi TATYAT ot T2 -

(A) 1925 (B) 1926
(C) 1927 (D) 1928
(B) 3TaRd wed

IMF 3T World Bank & 3291 gg@ feaw
HET ST 31 ST geu fed -

(A) TR B) fo=

(C) ®I| (D) ST

(E) STIRa wA

frenfien wifa o faemfaa Fafsm o=t =@
Heier B-

(A) 95 3T W (B) i 3= 9
(C) g S99 (D) e 9

(B) Tqaia o

Fe(s)+cuso o —Feso, 00 + Cu(s)

3 T favemues stfufemn fore e o 22
(A) T sfafsan

(B) foarem stfafewan

(C) Tgfoweram srfufsran

(D) foemam erfaferan

(B) STIIRT e
?ﬂﬁqnqmﬁﬁmfmpHﬁmw
?

(A) g 1 ™

(B) fiee eftw Hiifren

(C) wHifean TrEglHEe
(D) S

() STgaRd w3

T 9910 G0 Ifg od= bl defl oed 9
HTell &1 @ & df SHRT Haed -
(A) 9ISH T e THh T R

(B) $oF T & ¥ Tl v W B
(C) oA o1 2

(D) o g TE 9 A @I 2l

(B) Tgafd oo

UTEde & faEues ¥ 9 wed SEiEe
ST a9 Sl el €, I foRam B 2-

(A) IR 54 (B) WIEZIhITgAl
(C) eRacas® (D) H5H

(B) Tqafa o

59-

60.

61-

62-

‘When France sneezes, the rest of Europe
catches cold.[ | This statement said by-

(A) Louis Philippe (B) Napoleon

(C) Kabur (D) Metternich

(E) Question not attempted

Federation of Indian Chambers of Commerce
and Industry (FICCI) was established in -

(A) 1925 (B) 1926

(C) 1927 (D) 1928

(E) Question not attempted

The IMF and The World Bank called Bretton
Woods Twin. Bretton Woods is located in-

(A) America (B) Britain

(C) France (D) Germany

(E) Question not attempted

[ISpinning Jennyl] developed in the Industrial
Revolution is related to [

(A) Textile industry (B) agriculture industry
(C) Metal industry (D) Shipping

(E) Question not attempted

Fe(s)+cus0 e gFeso, + Cu(s)

4 (aq)
What type of displacement reaction is given?
(A) combination reaction

(B) dissociation reaction

(C) double displacement reaction

(D) displacement reaction

(E) Question not attempted

Which of the following substances has the
highest pH?

(A) Lemon juice

(B) Milk of Magnesia

(C) Sodium hydroxide

(D) Gastric juice

(E) Question not attempted

If the bottom of the vessel is turning black from
outside while cooking, it means-

(A) The food is not fully cooked.

(B) The fuel is not burning completely.

(C) The fuel is wet.

(D) The fuel is burning completely.

(E) Question not attempted

The breakdown of pyruvate, it gives carbon
dioxide, water and energy, this process takes
place in-

(A) Cytoplasm
(C) Chloroplast
(E) Question not attempted

(B) Mitochondria
(D) nucleus
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64, ITH WM I 3T Wi el i & 64- The small intestine of Grass-eating and

65.

66.

67.

68.

69.

70.

71.

Bt -

(A) 99

(B) 1@ @M dcll @i &l Sidfh T9 @M
el B

(C) ¥ @M ddl i B Safh E @
el i el

(D) et

(E) STIRa 7A

fedd gRT Wgfehet = Afass & fora
arT g et g -

(A) THi&TSR (B) SATHIESR

(C) 3uHfEsh (D) HeAHRETSh

(E) STIaRa wd

1981 TefRde RREt THe s STEH g2l §-
(A) el (B) demie

(C) @M, (D) <=

(E) $13aRa 9o

ad 2024 H 5 Al ol WRA T YUK fean
?%ﬁﬁmwﬂﬁﬁmw
(A) ARSI TS

(B) <ot =RurfEe

(C) TH.TH. W@HHeH

(D) FYL 3BT

(E) $1gaia o

WA o W AU Tehd SHTET 1T 8-

(A) =amadfd faTen e @

(B) =Iafd €S Ad

(C) —rafd Fqus sTeredt

(D) =EHfd T TH EHfaeret

(E) $1gard o7

THM: T TEF 37 Taisl &ieh Tehtent &7

INRIREER (B) ¥ Tl

(C) aif¥am 9 (D) ©f. §siia H{AR St

(E) $1gaid o7

A € U U e e (NIA) 9
forly o T #72

(A) A8 @ (B) WIER 99 M

(C) 5™ ad (D) TSa HAR

(E) $1gard o7

AR S Wit |fifa & AU Ay fad
AT TR 2?

(A) 3= SAEfean (B) JU1 Hicieh

(C) ¥Mdar <&t (D) <= T a=i

(E) 1gafa wd

65-

66-

67-

68-

69-

70-

71-

carnivorous animals is-
(A)
(B)

Equal
Grass eaters have longer while carnivores
have shorter.

Grass eaters have short while carnivores have
longer.

©

D)
(E) Question not attempted

Longer

By which part of the brain is a person(s ability
to ride a bicycle controlled?
(A) Cerebrum

(C) Forebrain

(E) Question not attempted

(B) Cerebellum
(D) Midbrain

The 19th Non-Aligned Summit was organized in-
(A) Kampala (B) Belgrad

(C) Baku (D) Davos

(E) Question not attempted

Bharat Ratna Award has been given to 5
personalities in the year 2024, out of which the
award has not been given posthumously-

(A) Lal Krishna Advani

(B) Chaudhary Charan Singh

(C) M.S. Swaminathan

(D) Karpuri Thakur

(E) Question not attempted

Who has been made the new Lokpal of India?
(A) Justice Lingappa Narayana Swamy

(B) Justice Sanjay Yadav

(C) Justice Rituraj Awasthi

(D) Justice AM Khanwilkar

(E) Question not attempted

Whose book is Irrfan: A Life in Movies?
(A) P.Vikram

(B) Shubhra Gupta

(C) Ashwin Prabhu

(D) Dr. Sanjeev Kumar Joshi

(E) Question not attempted

Recently, who has been appointed as the head

of the National Investigation Agency (NIA)?
(A) Abhinav Das (B) Sadanand Vasant Date

(C) Ajay Verma (D) Rajeev Kumar
(E) Question not attempted
Who has been made the new President of

Paralympic Committee of India?
(A) Devendra Jhajharia (B) Deepa Malik

(C) Sheetal Devi (D) Jogendra Singh Vedi
(E) Question not attempted
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72, TTA BT W @? WHR I ARTRdT WINEA  72- Recently, the Central Government has imple-

73.

74.

75.

76.

fagmes (cAA) = @ fwmar mem oz

AMREHAT UTAAT & HFES B-

1. Al iR, STHMTE, SRyl i
framet &M =nfeul

2. =t feg, T, 5, dig, IRET @R 4T
SCUHETS UM W Hafud g =ifeul

3. =afgd &t 31 KGR, 2014 =1 A1 399 YA
aRd H yewT fRen g =t

4. HRAE A H AR S ISRl & g
MEET G 9 Yed U9 HWa 9 WRd |
M &9 9 frerd 2

Tl He ® -

A) 1,293 (B) 1,2,3 94

C) 2,394 (D) 1,394

(B) TaRd g

g g o1 fama @ #-

(A) T (B) femem

(©) gfer™ (D) 9|

(B) STIaRd g

W& T uRfeafaar s @ W R @

WHR GRT T il o fauali W i smn

IMETIEH BT ST A-YATA: AT BI-

(A) g@ﬁraﬁag*—ﬁq TR SR ST ST Hehdl
|

(B) g@aﬁsﬁaﬁﬁmwaﬂwwm
|

(C) R SFF ¥ G T hl SR eI 2

(D) HEE GNI HIYRU 9gHd & SMER T A
o Wl 2

(E) STIaRa 7d

W& 99T & ferdt & o Afver sre (umie

@M ) N & O U ufiferfa o digam & 9

ITWE W g TR i FIfeaal ahl &IgT

W|HAE

(A) 3T, 3279 317 33

(B) 3. 319 314, 32

(C) 3T, 339 319, 34

(D) 3T, 319 374, 33

(E) STIART 7T

1954 3, ¥ TIfea T TRIST STENT = WTeTE

WEE & fT amer & STuR W T @

YTiie ol FaORTRYT &t 30 MR W IR

q HEWTE T Te e o g3 ?

(A) 1960 (B) 1956
(©) 1966 (D) 1961
(B) STIaRd oo

73-

74-

75-

76-

mented the Citizenship Amendment Act (CAA),

in which the criteria for citizenship eligibility are-

1. The person should be a resident of Pakistan,
Afghanistan, Bangladesh.

2. The person should belong to Hindu, Sikh,
Jain, Buddhist, Parsi and Christian minority
communities.

3. The person must have entered India on or before

31 December, 2014.

A person of Indian origin who is ordinarily

resident in India for five years before applying

for registration.

The correct code is [

(A)1,2and 3 (B)1,2,3and 4
(C)2,3and 4 (D)1,3 and 4
(E) Question not attempted

Which is not a subject of state list ?
(A) Agriculture (B) Education
(C) Police (D) Land

(E) Question not attempted

When such circumstances arise that it becomes
necessary for the Central Government to make
laws on the subjects of the State List. than First
of all -

(A) Law can be made with the permission of the
President.

Parliament can make laws by calling a special
session.

(B)
(C) Before making a law, the permission of Rajya
Sabha is necessary.

Parliament can make laws on the basis of
simple majority.

Question not attempted

(D)

(E)

‘When military rule (martial law) is implemented in
any area of the country, then in such a situation,
those articles of the Constitution which increase
the powers of the Central Government. they are-
(A) Article 32 and 33
(B) Article 31 and 32
(C) Article 33 and 34
(D) Article 31 and 33

(E) Question not attempted

The State Reorganization Commission consti-
tuted in 1954 recommended the reorganization
of states on the basis of language for linguistic
communities. On this basis, in which year were
Gujarat and Maharashtra formed?

(A) 1960 (B) 1956
(C) 1966 (D) 1961
(E) Question not attempted
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77.

78.

79.

80.

Yl T WEnsl Rl grand ey o
et 29 fawal St wgel TeuER WO @
HE TGN § g feRar T 87

(A) 103 (B) odt

(C) 113 (D) 12&fF

() STgaRd w3

T T e & ey ¥ faw T et 7S

o & wEt T e?

(A) U HE T § TARE W Sl § gd
HI

(B) T4 T1E e S 2

(C) T FAE A &l AU ITH HRAA
1 Geel ARG % T A 9 B 2

(D) Fafe a1 WHR g0 HT W 2

(E) TIaRd 99

Hag e O ¥ sl geieet & fog e 79-

368 W afufa wfehar @i etommq fomm &t
HYNe T Hehelt 872

1. 9 | U T H e

2. Torslt U590 1 sAwa S@E

3. fauraReg 1 M9 T
4. T=Ad & A Gfhan H HeMEH Al

TE HE H AT Hia-

(A) 1,293 B) 2,394

€ 192 (D) 294

(E) STIARE 7A

gAfeTa eRifeTT-

wigem dones PIEEIE)

A. 428t 1. 3oeRa foadt &

B. 5241 2. AEIIferehT st Tt
EIRUE SRR I SER]
T B

C. 544t 3. gaed =
& e & o
T 9 Hafud

D. 1591 4. I=9 AT ®
=rneiten st Henfghd
% 3T 60 a9 9
TG 62 a8 FHEA

Wl /T 1 oI HIfT-

A B C D

A 2 1 3 4

@) 2 1 4 3

@© 3 1 2 4

M 4 1 3 2

(B) STaRd we

77- The 29 subjects to be transferred to Panchayati

Raj institutions, which were earlier in the State
list, In which schedule have been recorded?

(A) 10th (B) 9th
(C) 11th (D) 12th
(E) Question not attempted

Which of the given statements regarding State
Election Commissioner is not correct?

(A) Its function is to conduct elections in Pancha-
yati Raj institutions in the state.

(B) The State Election Commissioner is autonomous.

(C) The State Election Commissioner or his
office is related to the Election Commission
of India.

(D) Appointment is made by the State Government.
(E) Question not attempted
Which of the following amendments can the

Parliament make without adopting the proce-
dure described in Article 368?

1. Entry of new states into the Union

2. Increasing the area of a state

3. Formation of Legislative Council

4- To amend the presidential election process.

Select the correct code-

(A)1,2and 3 (B) 2,3 and 4

(C)1land2 (D)2 and 4

(E) Question not attempted

Match-

constitutional Provision

amendment

A.42nd 1- Anti-defection law

B. 52nd 2- Places restrictions on the
powers of review of the
judiciary.

C. 54th 3- Related to increasing the
salary of Supreme Court
judges

D. 15th 4- Increased the age of

retirement of high court
judges from 60 to 62 years.
Select the correct code-

A B C D
A)2 1 3 4
B)y2 1 4 3
3 1 2 4

™4 1 3 2
(E) Question not attempted

Samyak IAS, Near Riddhi-Siddhi, Gopalpura Bypass, Jaipur - Mob : 9875170111, 9414988860




Samyak

An Institute For Civil Services

81.

82.

83.

84,

85.

At ehife-

Su=rd /fehersl

A. SIfHTA 1

B. alifdeR feae 2.

C. TSR MEeiS 3.

D. ST ek 4.

HE HE T T hiTT-
A

(A)

(B)

©

D 3 1

(E)

W A (1916 ) TerEeRt ToFT 872

(A) 3= SR

(B) Tt IR

(C) drermeR fdereh

(D) SfhHa= =i

(E) STIaRa 7T

5 uTet, 1931 kI feheieh We WugEar g3?

(A) TIf-FeEaR

W N =

(B) Tif-E®
(C) Tiefi-gfe
(D) Te-Gfem
(B) STIIRT 9o
T o falrer o & RROT SeE BT il
fofeor &R 7 28 ol 9 S § T, 9B
ST IfequT SvkieRT o TR giT WX 4i?
(A) TR (B) sl
(C) I (D) wH
(E) STIaRa wA
gAfera wHifee-

iy &
A. EIHUS 1. oM
B. TS{A 2. FH
C. TG&ER TR 3. WEMAl
D. HeX 4. wE
T /e W =G FiaT-

A B C D

A 1 4 2 3
@) 3 2 1 4
©) 3 1 2 4
M 1 3 2 4
(B) STaRd we

81-

(14)
Match-
Novel/Book Author
A. Germinal 1- Charles Dickens

2- Emile Zola
3-R.L. Stevenson
4 - Rudyard Kipling

B. Oliver Twist

C. Treasure Island

D. The Jungle Book

Select the correct code-
A B C D

(A 1 2 3 4

B) 2 1 3 4

©) 3 2 1 4

D) 3 1 2 4

(E) Question not attempted

[JGhare Baire[| (1916) is a composition of -
(A) Avindranath Tagore

(B) Rabindranath Tagore

(C) Balgangadhar Tilak

(D) Bankimchandra Chatterjee

(E) Question not attempted

Between whom was the agreement signed on 5
March, 1931?

(A) Gandhi-Ambedkar

(B) Gandhi-Nehru

(C) Gandhi-Irwin

(D) Gandhi-Reading

(E) Question not attempted

84- Nelson Mandela was imprisoned by the British

85-

government for 28 years for opposing apartheid,
on which island of South Africa was this prison
located?

(A) Duiker (B) Robben
(C) Dassen (C) Marion
(E) Question not attempted
Match-
Dam River
A. Hirakud 1. Krishna
B. Nagarjuna 2- Narmada
C. Sardar Sarovar 3-  Mahanadi
D. Mettur 4-  Kaveri
Select the correct code-

A B C D
A1 4 2 3
@3 2 1 4
<3 1 2 4
1 3 2 4

(E) Question not attempted
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86. ST VT E™RT S $iFTR A H-ATRART  86- North South Corridor which extends from

87.

88.

89.

90.

921.

e faega &1 o nfeema fre § @ fww

IET W BT Tl o g7
(A) = (B) TR
(C) e (D) TEUER
(E) STIARa 7A
e -
@l T TR M)
A. S 1. STYyesT
B. &al 2. IS
C. ug 3. AREUS
D. aleR 4. <fegolt gl TSTee
HE HE R T hITT-
A B C D
A 2 1 4 3
@) 2 1 3 4
© 1 3 2 4
M 1 2 3 4
(E) STIaRa wA
afifeom ¥ feera deuaaret faw fora wfae
A Heifera 272
(A) A9F (B) e
(C) ilrEe (D) dife
(E) $1gaRd T
ueul ® fafda g|ia S wE & WunT §
FIATHT BIAT & qAT HIVTRIST hi TS
gfg & ¥ WEEs e €, #-
INEEIESE]
(B) for=Rfer
(C) HrgerhrEiH
(D) Ufsafas
(E) STIafa wd
Tre # ity st Sifien I 3 Serer
(A) T, T.TE. .
(B) w&@n, MAfEn
(C) THfen, fawfaa
(D) fawfera, &
(E) STIARa 7A

gq Tofhms T =t 3@ & faw wam
AT -

(A) 3T U

(B) Feddl YT

(C) F9aed YOI

(D) el <qor

(E) 31aRd we

87-

88-

Srinagar to Kanyakumari. This corridor does
not pass through which of the following cities?

(A) Jhansi (B) Nagpur
(C) Bhopal (D) Hyderabad
(E) Question not attempted

Match-

Type of Farming Region

A. Koman 1- Andhra Pradesh

B. Kuruwa 2- Orissa

C. Podu 3- Jharkhand

D. Valre 4- South Eastern Rajasthan

Select the correct code-
A B C D

A2 1 4 3

B2 1 3 4

1 3 2 4

d1 2 3 4

(E) Question not attempted

Panchpatmali deposit located in Odisha is
related to which mineral?

(A) Mica (B) Iron
(C) Bauxite (D) Copper
(E) Question not attempted

89- The hormone produced in plants which is

90-

91-

synthesized in the tip of the shoot and helps in
increasing the length of cells is-

(A) Auxin

(B) Gibberellin

(C) Cytokinins

(D) Abscisic

(E) Question not attempted

Examples of sexually transmitted diseases
caused by bacteria in humans are-

(A) Gonorrhea, H.I.V.

(B) Warts, Gonorrhea

(C) Gonorrhea, Syphilis
(D) Syphilis, Warts

(E) Question not attempted

Dentist uses to see teeth-
(A) Convex mirror

(B) Concave mirror

(C) Plane mirror

(D) Spherical mirror

(E) Question not attempted
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92, AFE AT AT @ Ht FihE ?.:ﬁ @ 92- The human eye can focus objects placed at

93.

94.

9s.

96.

97.

wHMEING wien fafa=T gl ot @t awgeit
W TRIR{ad T Wehdl ¢ UET &1 W
THITT 2-

(A) w0 e

(B) THSH

(C) frhe e

(D) < 3fe

(E) STgaRd WA

Frafafaa & = emErR Sfaer @ Fmio
wd §7?

(A) G, T T T\

(B) ®E, Iy qAT HHA

(C) F&A, T qAT BIelt

(D) ©H, HSell qA1 dehdl

(B) Tgaid o

Frafafea o @ s uy fag@ ufoer §
oz wifem =t Frefua &t wean?

(A) PR (B) IR?

(C) VI (D) V2R

(B) TqAid o

g & ST U9 &l W1 ¥ o= &% fau
Trfafea ¥ | s fafa sudea &2
(A) WS T

(B) Y oWIAI

(©) TS =t v =g

(D) 9 Heft

(E) STIaRa 7d

TR SFeiE @A T 3@Te 2023 § T+ T
Tgerst -

(A) o I=Erer 9ed], dfdd HAR

(B) TR w=wier e, Oifes o Tt
(C) AR W9, dfed AR
(D) wifcesh | TS, dfedd HAR
(E) STTaRa ged
T@ & A @< afeie 7 3w gd
TRt S fieaiur TS 2024 Rl
Wﬂ%lgﬁﬁm%aﬁw%—
TTHT USRS HET {98 &5 1
T gmifees nfYies fasm sl
2. Tafmfor it en &5 o Scurees Tfdtary
1 Tt
T fE9T i st s

wfrw%—

(A) 1,293 (B) 293
(C) 193 (D) Had 1
(B) STIaRad W

94-

different distances by adjusting the focal
length of the objective lens. The reason for this
happening is-

(A) presbyopia

(B) accommodation

(C) near sightedness

(D) far-sightedness

(E) Question not attempted

Which of the following forms a food chain?
(A) Grass, wheat and mango

(B) Grass, goat and human

(C) Goat, cow and elephant

(D) Grass, fish and goat

(E) Question not attempted

Which of the following circuit does not represent
electric power in an electric circuit?

(A) PR (B) IR?
(©) VI (D) V¥R
(E) Question not attempted

Which of the following methods is used to
protect iron frying pan from rust?

(A) applying grease

(B) applying paint

(C) Zinc coating

(D) all of the above

(E) Question not attempted

96- The players honored with Major Dhyanchand

97-

Khel Ratna Award 2023 are-

(A) Chirag Chandrashekhar Shetty, Lalit Kumar
(B) Chirag Chandrashekhar Shetty, Satvik Sai Raj
(C) R.B. Ramesh, Lalit Kumar

(D) Satvik Sai Raj, Lalit Kumar

(E) Question not attempted

Recently the Union Cabinet has approved the

North East Transformative Industrialization

Plan 2024. The objectives of this scheme are-

1. To generate profitable employment thereby
leading to overall socio-economic development
of the area.

2. To create productive activity in manufacturing
and service sectors.

3. Attracting new investment.

The correct code is [

(A)1,2and 3 (B)2and 3
(C)land3 (D) only 1
(E) Question not attempted
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98, BT & W SA T PSLV C-58/ XPoSat TUITT &T 98- Recently ISRO launched the PSLV C-58/XPo-
gequr ferar =, foEent el ITT B- Sat Mission, whose main objective is-
(A) <= FT Tdg I STEER I HE (A) Getting information about the surface of the
(B) HEH Heieh SHepMr 31 oot

(B) Providing weather information

A - A N\
(C) Weefige drd T = AR CRiTSe 1 Tt (C) Reducing the risk of waste and accidents

hH Tl during satellite launch.
(D) HOR HaHl sTewasharsti i U T (D) To meet communication needs.
(E) ﬂﬂﬁﬁﬁ 939 (E) Question not attempted
99, FYMHAT gRT TTeT &f W Tiefst ¥ Weifad 99- Kochrab Ashram related to Gandhiji was re-
FIOE 3T FT IR fwamr ™m owE cently inaugurated by the Prime Minister. it is
located in -
feera %_ (A) Durban (B) Pune
(A) S8 ®) T (C) Sabarmati (D) New Delhi
(©) et (D) T et (E) Question not attempted
(E) ¥ = 100- MISHTT scheme is related to-
100.MISHTI ASFT <hT Haiel %— (A) To preserve mangrove forests
(A) Hog ol i EfRE (B) To preserve coniferous forests
(B) 'Q]EQHRD[ ol Rl 9 (C) To preserve national sanctuaries
(©) TI'@ﬁ'q SR ! 9U%d (D) Tree plgnting. programme to stop the spread
D) TETeet TR T T %_SL 9 | of dese.rtlﬁcatlon
; (E) Question not attempted
(E) SFIARA 597

C R K TR R )
OO 050 0,0 050 050
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